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B= [ MCA ;'x ) +  mch ) - MC Ix ) ]c
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b) moot loosely bound n :

M(5Li ) =  5.012540in MC
•

Li ) = 6.015122N Mu=  1,008665N

M( 160 ) =  15.994915in M(
' 50 ) =15,003065hm
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15 , 8 MEU 18.3 MEU
23.2 MEV
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86C ) = 45.8 ) ( 18 ) - ( iq3)( 18543-0.72 ( 6) (5) 1843 -

23.242¥
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 284.4 - 127 - 8,32 - 2.3  + 3,78 ( 33 )( 18534

=  3.78
=  145.6

131A  = 8.1 hell .

b) 18N180 18 Ne 18C
7 8 10 6

N 11 1018 12

P 7 8 10 G

S - D + D + D + D

N - p 4 2 8
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most  stable

( N . z ) small

8 + a

C) Binding formula % → B .

- 139.8mV ,
131A  

= 7.8kV
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R '= I - e
=  e - 1
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121+1 =  ett

ln( 121+1 ) = Xt
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A = 4.42×-10 µ(hoi ) = 6.4×1074
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